REAREB S 2T L

B HCH AT B B B R A

Fe e 9 = B

GHZEIX « &5 FHMET

/

EETRAI - 231K28%)

A B R R
&S| BHE O KA Rz eds | #LEHE Lawn Lk R il
1 Rl sl 500 11,913 12,413
2 M IE& 423 11,990 12,413
3 [ wth 493 11,920 12,413
O 426 11,987 12,413
ST (N1 506 11,907 12,413
6 WA FIE 449 11,964 12,413
7 |5 sF 458 11,955 12,413
8 |HE M 456 11,957 12,413
9 e EET 406 12,007 12,413
10 [&iR sEfr 382 12,031 12,413
11 |R& 7l 441 11,972 12,413
At 4,940 131,603 136,543

1/2



REAREB S 2T L
B HCH AT B B B R A

Fe e 9 = B

/

GHZEIX « &5 FHMET

SEETIFH - 2312857

Z O
| BTEB | AR | BRI || FEE | BRO | zof
pEmE| S (A) (B) FAEEE D) (E) (F)
12,641 12,641 12,413 228 1.80 0
( BNEER (B) : HEREKR (C)  BEBE =(A)+(B)

A) - g iy
BEHRE=(C)+(D)+(E)—(F)

2/2




